Moles Unvt Reyiew) KP-H

) d2aNe | el @
\zz.99q
2 Z.I%mol&k\u3-55ﬂ=

| tmol

3) .2%mol Fe|ss Yo _ .‘l
{1mol

§) Fzmot L LOD?_x[Da'[‘UT'S q.2 y[D s 04
e

s) g B |imo! 460’5&3204. UPY%ZIXIOM ZiXIOQ-lans
1%0.909

q -7
LY LOXIO atoms | |mol . @

.02, 10223 qioms

, 25
) 1.20 %10 gtoms S limol qu33354 mol I?’Z 09

|.02x10°2 a’rcms | 1ol

) szacOlim - [aner o)
23.0lq
¢-.1x12.019 - 12.0lq

O:1¥11.00g = (0. 009
23.01g

9) 1249CzHe| tmol (T d.12mol GoH,
lB0.0XQ

0:2x12.0 lg"z"l-%éq
. I-OI =_. g
W= ¥ 3 30.0% 9




\0) 22-498!’\02“ | 3
mo _ < 1M3629%19mo0! S
[150.%1g ~ |b.02x10 funits _ S.Q'SXIOZZ
l mol Lunits Snl;

an -1 x 118 g = 113.}g
O +2x IU'O()s"‘-P 52-009

150 .FHqg

23
4.54 x10
motculs Cly

W) g Uy fimol | F541F3232mol .02 Brticus
1152519 {1t mol

¢ - 1x12.019 = 12.0ly
U - x 35459 3141300

153 ¥lg
23 '
2) 3.01%10 funits RO3| | mol _ . 0.500mo! 199309 (39.9 ¢ Fe,0
| \6.02x 167> funits Itmol
Fe: 2X55.85g = 1.F0q
O 3x1g.009 = 43.009
59 309
13) 1.2 25 TS
2x 10 oucukts €Ol 1 mol . 1.93335482m0) [ 28.019 < (5150900
V602X 10 Rtg s Lol °
C.1x12.01g = 12.019
Q¥ Iu.wgilw.wg
Z3.0l9

%
IS)MM&‘\'MQL” ) IQ-Q335548’me|5molO 89Fma O
b OZXIOF3 — [ImoiNDs |
Mo auss

& 2 15 will not W tested ./



\Lpﬂ“ M02003 O/O NGO = "J_’jﬁégx[m <

105. 399 43.38 % \o.

Na -2 x 22.099 = 45.93g9
e, - 1 x12.0lg = 12.0l9 "/oC"-"—ZO—Ig—KIOO:
Q: 3xib.Wy =, 43.009 100.949

105 9949 %O*-’—MLX{OO*

11.33% C,

105.999
lUb) ('.lezzOn 144.12

“%C : 00 = [d42.10% C

0 12x12.0lg = 144.129 ° 342349 ©
W 22X 1-019 = 22.22% 0/oH :3—2‘-'2;/2;%)([002 (_p'-lqo/o H

011 x 1009 7 170.009 .00 5o
. O/ O_—-._ . = 5' I / O

342.349 °© 3”—9'42,348 % 100 0

I+, 43qP | - -
) ELM%%%ZOQ— \%54?“\0'?‘3/'85_4;”)0’ ,__(_:L pb}j - "PbS

= C 24

14.%3qC\‘:;§:9 - ool C e s —-(35 )3

‘ ) - H
ﬁ%__ 3. 70 2AFmol HAK'S'-H"'O' = (4.? H)B H



1) 24.39C [{mol . z.0z331M018 /7 pieFsmt =L ¢
\12.019

4.19 1 | lmol - 4.0%%d [ mol H e 7 H
L0l g /? OIgF5 M
:H'LD%UL imo! 2.0101?5m0{0/é_0[q;5m| = 184
3754509

a) E-F.-_Qc,wu MF-~ 2 :
e )= 00 %o 232419/ | ANELING!
O {100}, 1L- 0 : -
% S -3 3C3 Va3

C 1(12.019)~ 12-Ol Y

N 1(14.0lg) = 14Ol g
U I(as-d‘?%);- 35.45 %y moss (MF)= 23241 %y
S 4:'19/’!'!}'

) 5.92059H Lmol
201 5.Q25 L0 3 = 5. S0+ Imol Hé&o-;{_gmo; =1 H

q4-0136590] [mol __5.83959m0l O/ g2 mo) =71 O

Hb.00g -~
EF = HO Mass (M.F17 34.01dL Y Yl
mass (€F) ¥
e X 1019 = 100 md 401468 %! _
L F. Ol Yme) =7

O: ’K”ﬂw%ﬂl _"[(D'mg;nﬂf
170! %o
N\ [ .
217 1388 s LlUmE- - 1155HM0l Cff gzl ~ 1. C

jﬁﬁﬁﬁﬂ%»- 3AISY M0l Hy | ss9mel = 3 H
09 O |

E F=CH0 Mass (H.F = 6L ol

mMass ce.F) (02 g/ { |
o) X 1201 95 12-01 g )
Ry Ay st 2 (HF = CGHale

31.04 %ol Q)

O xin.()O%?lLo—OO



